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= 'l Grey line: exponential fit Peak flux: 2.353+/- 0.458 c/s/cm® -
E ‘ Black line: power law + gauss fit Fluence : 40.46+/- 6.01 c/cm? E
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—  Expon.time: 14.74+/- 2.06 s (chi*red= 0.95) =
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E Power law index: -0.654+/- 0.074 (chi*-red= 1.08) =
S iy it A o b gt e
= mﬁﬁ%ﬂw NH M H*++++Hﬂ+*H*+#*ﬁH+ﬂﬂ++**#j*T*+*+*iﬁ*ﬁMﬁﬁwﬁﬁ JHMWW +uHWHHtﬁHwﬁHwﬁww*WW*Mﬁﬂﬁﬂﬂ Hjﬁ Hﬂﬁ*ﬁ+Wﬂwﬁ#wﬂHW Hﬁmﬁﬁﬁg
i‘ T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 14.95+/- 1.59 s, fracgs= 1.03+/- 0.27) =
= Power law index: -1.892+/- 8.193 (chi’-red= 0.95) 3
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